%)y | |

D_.O _\J_ = W////gg% vv % o

g O = O & pChaQ

= ] e EElg R

= e O N O m

= =1 | INE==

2 D e B R L\

V/J_L’ c O A).,/ E 1= e: \

Oc®

n
964m
KiaIRoter
321m
i
wanmstsr W annster
19.52m* 2036m*
we
Nam Ly
alolt e
raktdr |
188m’
uislinosr
7633m*
[
-
D2
-
megléuacsaportok
o
o
o [
meglévi g
_
bl
\V ]
'
i '
'
[ssssnnnnn]
e
]
|
B

EH

2

£
2. emelet

gveprefutd lépcsfokok

= —
3 '“:B
8
_ﬂc

ot
L
- o o, i
33 | - t
=383 A _ 0 0
0 3 ] S
o L = =) P
o - Pho 8 - gz
) ~ [ T S P & = | e
2 ) H £ s 4| .,
\ - §8 e | | ) &
, = . , +
A / SHA— W B + m.m EH H
\ ¢ 5e 0 g ] 2
= ol 5. & B4 £ i
g gz g 55 a 3
\ £z a5 g
\ ' —
\ WM = B IR e
\ NN 22— X Be- o o
\
o
H
o i H
£ 2
H H
o
o
o —um_u
g
\ oo 2 a
il | Gl o
| S b ¥43
@ (3 144 [+
il agagggeaang
— dadgadadand
\ ) L dagaadagand
\ — ° oleloloieioieloiofele] °
\ — [ dagadgadand B
@ o gogdddedaadg
- o e daddadaddad ) e
ST M g g — " - = ittt S Y - -
mM ® H ¢ LH m ) =
2 < £ i g
[elotelelote otelotoler F H ]
[ — m g 2 e [clslslelslelsisislele! = § woum 5
— 3 K diddddadddd 5 S
WHQ gdoggdddgaag = K
L It [elelelsleiolelelslele] A 4 z
[elelelsleiolelolelele] -
— = ¥ doddddagacd e
» daddadadacd — 2
L 8 X °
I 1
[=] =\
L H 8 S (.
IR 3 Q)
= < (IT11] 8
R o
0% pNalegil WELLLL\ELL\\/
S
——— e 3 —_— —lL—
k
4

40

(g

0 1BHO T
|3
o
o

oty

i

i

\
i
/
i)
i)l
M
ll

K
Didby
il

'iiil

onyh
-
ting 65 mizeumped.
-
nzonvozi
-
C
=
8,10
8,90
A

E £8 g
: HE £
£ £
= E
— é
0
°

\ | Xl

MW
AN

// \

\ AL

m———

=
==

=)
3

T

Kiskockak® burkolat

1,00

304, 260 L, 2,20
M

| [ B — - — -

i\

il
il

T
7
i

i
‘um

l
|
l

:

\‘|
i

\

.\‘
|

“
i

1
B s
! £2 =.
i3 2 == S
e - =5
8 S|S
] | I 23
T [ 2F He
' HE E
T s

ov'sL 0 09T 0 0Ly

;
j

w.\'
\\\\\\

|
|

S00c¢ 0 09¢ 0g 8¢'GC ~’

002

.

/
/



